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[ 5

The domain of the real valued function f(x) =Sin™ log, oL 1S

\

A

)
TR O (a0 f(x)=Sin™ | log, % A30E), (DTFS0

Options :

o [2.0)0(1,2]

o [2-101.2]
, « [Lol12]

" [1,00) U(-2,0)
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The range of the real valued function f(x)=log, (5 +4x—x* } 1S

TR re)§ (DRADO £ (x) =log, (5+4x—x* ) TEy "5



Options :

> % [0,2]
3. v (—0,2

4, % [-13]
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2n+l " T ) : .
If 3" —8n-9 is divisible by 2" ¥ neN, then the maximum value of P is

VneN & 2" F 3" -8n-9 ariodds, @) P 330, (109 Densd

Options :

1.% 8

4. %9
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:N.A Think Time : N.A Minimum Instruction Time : 0
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A{%} 1s a 3x3 matrix with positive integers as its elements. Elements of A are

such that the sum of all the elements of each row is equal to 6 and a,, =2.
ey i1 b -

A=[a; ] 6% FTOSL KPOSLIT i 28 3x3 WSS, (53 o SHHS
JrOTO IS0 6 HOOW a,=2 B SFSE A S Sresen
g ow. i=1,2,3 §

. [aﬂ ta;. 1<3 odH® J =i+l
i

1':?5" “";‘r‘- 1=3 ewonsyd j=4-i

QONS,

Al=
Options :

1.% 6

2. % 18

3 % 3

a,v12
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If |Adj A|=x and |Adj B|=y then

(4dj(AB))” ‘ =
|Adj Al =x 8050 |Adj B|= y ©90on, ) ‘(Afg(gs))"| _
Options :

1
__I__
1% X Y

2. % W

3 o AV

4. W’ .‘E+ _]-'J

Question Number : 6 Question Id : 3838233366 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The system of equations x+3by+bz=0, x+2ay+az=0 and x+4cy+cz=0 has

x+3by+bz=0, x+2ay+az=0 HOAN x+4cy+cz =0 HaDESETE 5908

Options:

only zero solution for any values of a, b, ¢

1 % @b, c © TB0EY 2 DENIOTT® ST ST(SD GOLNOS

non- zero solution for any values of a, b, ¢

5 % @b, ¢ © ) DNIOTT” HPI§5S DS GOENOS

3.v¥



non- zero solution, whenever 5(a+c) =2ac

b(a+c)=2ac ©ONIYIR FTI5S5E DS GOLNOS

non- zero solution, whenever a+c¢ =2b

4 % a+c=2b @000 TI S RS G0LNod
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—bc c b
a’ a a
c  —dc a|_
b b’ b
b a —a
c c ¢’

Options

1.% 0

2. v 4

3.%

2 2 5
a +b° +c¢°

Y37 9
4. % abc
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If z=x+iy satisfies the equation Z+az+a’ = 0, acR, then
Z+az+a’ =0,aeR DNEGEF) z=x+iy S92 DO, €Y

Options :

1. ¢ z|=|a|

9 % !:“‘a| =|a|
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If Z,,7,, Z, are three complex numbers with unit modulus such that

2, -2, +|2,-Z,] =4 then Z,Z,+ZZ,+Z,Z,+Z,Z, =
Z,,Z,, Zy e SO0 1 e 058 H0o8E Hoggen Srdasn
Z,-2,[ +|z,-2,

‘=4 @008, Z,Z,+ 2,2, + 2,2+ Z,Z, =

Options:

1.v0

. % |2 +Zif



Z,+Z

3. ¥ EZ||2 &
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b+a’ +co

3 K ]
a+bo+cow " a+bo+co
c+a0+ b’

|
J =2, then

If @ 15 the complex cube root of unity and (

2k +1 1s always

ok N
a+bw+cm'J +[a+bm+cw']

0 OO 2,56 Tng) 085G resn HOA [ =2

c+an+bo’ | | b+aw’ +co
NS, 2k+/ OO JO T
Options:
divisible by 2
1 % 23 2rfoddaacenod

divisible by 6
5, % 63 2rNotdH0d

divisible by 3
3 v 3 D 2rioddaeod

divisible by 5
4 % 50 2rhotdnenod
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50
. . Z : ; "
If Z, = +iV3and Z,= \@H, and [Z_] =Xx+1y, then the point (x, ) lies in

5

'

50
Z =\3+iy3 5805 Z, =3 +i 5805 [%] =x-+iy ©o, HoddY (x,))
Options :

first quadrant

1. v 28638 >B0S &Gotnod

second quadrant

5 % BOS JrcsoS &oenod

third quadrant
3. % 0P8 B0 GOLNOD

fourth quadrant
4 % DENHS 0SS GoENod
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The solution set of the inequation 3* +3"*—4 <0 contained in R is
3437 —4 <0 @IEB0 TBEY R S A &) P O

Options :



5 % (0.2)

4. v (0,1)
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. Lo s o 2 5.
The common solution set of the inequations X" —4x <12 and x"=2x213 taken
together is

¥ =4r <12 58050 X =2x 215 e9aESeen BoBe3E o) &on® e
daNed
Options :

.« (5.6)

D

3. % [-3’5]

4. % (_QD _3] U[3,)
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Correct Marks : 1 Wrong Marks : 0

The roots of the equation X =3 +3x+7=0 are @, B, 7 and w, w* are complex cube

roots of unity. If the terms containing ¥’ and x are missing in the transformed equation
a—h+ﬁ—h+y—h:

f-h y-h a-h
I8S0 X -3 +3x+7=0am), Sreren &, f,7en HBAK w, W e
28630308 H08Y areren. & Srerod (NSEAR h T o)
EFarossd OangsmoS X B0 x HTEN N0 990, e
a—h+ﬂ—h+y—h:

p-h y-h a-h

Options :

3

1. % W

when each one of these roots is decreased by h, then
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With respect to the roots of the equation 3x"+bx” +bx+3=0, match the items of List-1
with those of List-1I

30 +h +hv+3=00880800 GTg) rere Gyl ol SR woreld
HEE SR TES 2T

LIST-I LIST-II

AR A |
A | All the roots are negative [ | (h-3)=36+P" for PeR
Q) 2EPSE SN
B | Two roots are complex I | -3<b<9
Boch Sreren Hosdo
C | Two roots are positive Il | be(~0,-3)U(9,x)
B0 ureren Gared 50
D | All roots are real and distinct IV | b=9
BQ) PETEN TRIe DI &)

V | b=-3

Options :

1. % A-V, B-III, C-I, D-II

> = A-IV, B-1, C-11, D-1II

3. % A-V, B-II, C-III, D-I

4. v A-1V, B-11, C- 'V, D-1II
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The number of ways of arranging all the letters of the word “COMBINATIONS” around
a circle so that no two vowels come together is

“COMBINATIONS” &7 H30S'Q @) @800, « B0 &t )en

D8N TR0 GOBOLI, 2,8 9B0 F02G @HEIIOT e oS

Options :
716!
1 2

716!
2 % (2!)3

P, %6l
3% (21

TIxRPS
4 x QY
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[f all the numbers which are greater than 6000 and less than 10000 are formed with the
digits 3, 5, 6, 7, 8 without repetition of the digits, then the difference between the
number of odd numbers and the number of even numbers among them is

3,5,6,7,8 90308, @03e )STyS0 SHO GOBELY 6000 0T DY
58050 10000 0 DSBS Do 08 BIEASN, TS’ BV
ROPSE DOPSH) DB DB DOPE DOV NS 56 230

Options :

4
1.9 P3
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A man has 7 relatives, 4 of them are ladies and 3 gents; his wife has 7 other relatives, 3
of them are ladies and 4 gents. The number of ways they can invite them to a party of
3 ladies and 3 gents so that there are 3 of man’s relatives and 3 of wife’s relatives, 1s

28 NS K> 7 it 20¢HOS 4 HiXd [f‘gm BO5D M s)danen,
@ 20550 o 7 H 9edd 200908’ SnihE Lf'gu} QO 4 Hth
0. S (Ve OO A HEDEN EGOT 2.8 0K &
B 20RJOS S0HB, & 2188 2000 S &oT o
TS 83303107 DN oY

Options:
1. % 341
2 % 161

3 « 485

4. % 435
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300 300

Ifthe coefficient of x” in the expansion of (1+x+x" +x)"is @ and S= Zur, then Z"-“r -
r=l r=l)

300

(+x+x+x)" G RS ¥ g Hosw ¢ DB $=) 4
r=i

300

OW8, ) r4,=
r={)

Options :

% (50)S
, % (25)8
. (150)S

4 = (100)S
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21 25] 258] 3‘3—_—%

3.2 364 3698

Reason (R):  |x| <1, (1-x)" =1+mr+M(Murl},\:2 + fi(n+l)(}]+2)x3+ .....
1.2 1.2.3

21 . 251 2381 =i

32 364 3698

Assertion (A): 1+

D250 (A): 1+

5880 (R):  |xf <1, (1-x)" =1+nx+ ”(T ;r . ot il J; 1;(; 2 B e

The correct answer 18

QBN QIO

Options:

(A) and (R) are correct. (R) is the correct explanation of (A)
1 v (A) OO (R) @0 SOTDA. (A) 30 (R) OO adSED

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) DO (R) &0 BN, 5% (A) 50 (R) DO DedBea 5°¢%

(A) is correct but (R) is not correct
3 % (A) SOBDDRA 5°Q (R) DOTSE 5°¢»

(A) is not correct but (R) is correct

4 % (A) DBBDIA 570 5 (R) DOTOIE
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o D BRRR o B D =

4 2 2 2
x+x +1 x+ax+1 x —ax+1

; I ;414"3 + FI+D wonad, A+B-C+D =
x+x 4+l x+ax+1 x —ax+1




Options :

1. % 4
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lf[}{fﬁ?{g and 8cos@+15sin@ =15, then 15cos@—8sinf =

0{9{% 208050 8cosf+15sinf@ =15 @0, 15¢cosd—8sinf =
Options :

1, % 13
2. % 1

3. ¢ 8

4, % 23

Question Number : 23 Question Id : 3838233383 Question Type : MCQ Option Shuffling : Yes
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sin20°(4 +sec 20°) =

Options :

Lo
w3

3 % 1

4, % —1
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Suppose 6, and 6, are such that (6, —6,) lies in 3" or 4™ quadrant. If

sin 6, +sin 6, . and cosf, +cosd, el then cos -6,
-6 T 65 2

(6,-6,) 9O S° BE TS 0 &OTBEIERT™ 6, O 6, 0

&) OO0, sind +sind), =—% 5005 cosf +cos, =-§ ©ovd,

(al _91]
cos = |=
2

Options :




2
3¢ ~I130
__3
4. % 150
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If A is the solution set of the equation cos” x = 0053% and B is the solution set of the
: ) 16

equation cos"x = log, P where, P+ = 10 then, B-A=

cos” x = cos’ % NaDEEEI0 TE) PG Daed A $DBA cos’x =log, P

HNEGE0 T S HWS B, 9 p+$ ~10 e9ond, B—A=

Options :
{xe R/x =2I?ﬁi%, 2.'??1’1‘%,.'? =), 1,2,3,...}

1. %

{,re R/x= Zrmif. 211fri2—ﬁ,n =), 112,35..,}
> 3 3

{xe R/x=2nr+ZE onz+Z n :0,1,2.3,..,.}
- 6 12



{xe R/x=2nzx+> 2nx+X n =0,1,2,3,...}
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The trigonometric equation Sin~'x = 2Sin"'a, has a solution
Sin~'x = 2Sin"'a |BFNBCH JaDESTE S

Options :

only when -L{H{: L1

V2

I 1
< a<— SOONANICH ST SOLVOD
1.% N2 T2 : :

for all real values of ‘a’
5 % ‘@’ OBNE) Q) TV JENIOZ OLNOED

only when |a| < e

V2

|a| < é 0N IR S0 GOLNOE
3. ¢

1
only when e
> |H| \E

31,

90N IC) A5 BOENOD
NG o)) &

a|>
4. %
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If sinh x = % then sinh 3x +cosh 3x =

. 12 :
sinh x = =3 €008, sinh 3x +cosh 3x =
Options :

1.+ 125
2 % 144

3. % 169

4. % 216
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[f ABC is an isosceles triangle with base BC, then rr =
ABC @338 @8sn BC 1 650 2,8 Ne& (230 (€322 &N, 11 =

Options :

, » RPcos’ A



I
3.% R

4 o R7sin® A
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In AABC,if r+r=3R, r,+r =2R, then

AABC & r+r,=3R, r,+7 =2R ®0ons,
Options :

ABC is a right-angled isosceles triangle
1 % ABC 2.8 ©028% 0O 52350 (832523550

3 vA=90°% a#b#c

4.« C=90° abc=2:1:3
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n is a unit vector normal to the plane 7 containing the vectors 7 +3k and 2i +I—E.
If this plane 7 passes through the point (=3,7,1) and p is the perpendicular distance

from the origin to this plane 7, then p’ +5 =

T+3k 0808 2i+7 -k $63en 5OAS 2.8 800 7 8 SrES ©02 HOF 7.
& 7 300 (-3, 7,1) Dotheyihom 0 HBAN re) Do) oA &
7 SO 0 ©02) &80 p NS, |p’ +5 =

Options :

1. % 59

2. v 8
3%64

4, % 31
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[f a=7-]+3k,C=-k are position vectors of two points and b =27 - + Ak ,
d=1+2] -k are two vectors, then the lines 7 =a@+th , F =C +sd are
a=7-7+3k, C=-k 0 B0 HOY® TG0 SHOAM

b=2T-F+Mk,d=7+2]-k e Bok 2&Fen wond, Spen F=a+h,



skew lines when A :§

A :% 90N SD)CR ORI DHEN

coplanar VA € R

> % VAeR 8 I$DASren

skew lines when A # %

A # J; 20NN O DDEN
3.¢

coplanar when A # ?

1% %3 BONSIE HSOSTen
4, %
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a,b,C are three vectors each having sﬁ magnitude such that

(5,5)45,5}:(5,&):? I

f¥ =ax(bx ¢)and¥ = bx(¢xa), then
2,528,688 V2 585rerR) $OAS Sk HBFen Tb,T en
@,0)=(b,¢)=(c,d) = % ©aHIO) Gy, ¥ = ax(bx ) B0

7 = bx(Cxa) @S, ©))H
Options :

1.



w'ﬂzlﬂ

2 % ET|=\/E‘F|
3 % E_"f|=2‘_ﬁ|
4 % Ef|+|_?|=2
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a is a vector perpendicular to the plane containing non zero vectors b and ¢ . If

a, b, ¢ are such that |E+E+E‘:JEE+‘E‘1+|E’I then ‘(axg).g‘+l(axg)xg‘=

T8 030 b, T 0 §OR &) $erIE ©ODOT &) DA% 7.
4542 = 4[5 4 oGhsoen 7,5, 7 e» o, eipch

‘(ﬁxﬁ)-fh](ﬁx:‘;)xf‘ =
Options :

- |E|+|5|+|E|

, »al[e]e]

-
-

- al +'b|" +l




-

[’ |ef

[.:T:r
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If @=7+2j+k,b=3(7-j+k) and is a vector such that @xZ =b anda =3,
then a.(¢xb -b-7)=

A=1+2]+k,b=3(i - +k) HO0NT @I axc =h, a7 =33 EIENT
&) 28 DOF wond a.(cxb-b-t)=

Options :

1.% 32
2.« 24
3. % 20

4, % 36
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The variance of the first 10 natural numbers which are multiples of 3 is

S00°¢80 T30 (DEFPOBDS FNEES 10 DsTes oW TBNEY Dged

Options :

1.



® 53
2. % 73
3 % 52.5

4.« 74.25
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[f three numbers are randomly selected from the set {1,2,3,...,50' , then the probability

that they are in arithmetic progression is

S {1,2,3,..,501 0B Sirch HoPIOR AT 0™ 0D TR ©

@0838S &GS Ko Doy e

Options :

3
1. % 50



Question Number : 37 Question Id : 3838233397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The probability that exactly 3 heads appear in six tosses of an unbiased coin, given

that the first three tosses resulted in 2 or more heads is

2.8 Dar)8 8 FHR) 8 D JHG TSI G Surchy IS S
Boch B 0S50 D8 OIS 20200 NS AN I, e
S FSOS ED IS0 Surch) ) 5oy HT DoerS s

Options :

3
1. % 16

5
2.« 16
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A student has to write the words ABILITY, PROBABILITY, FACILITY, MOBILITY.
He wrote one word and erased all the letters in it except two consecutive letters. If ‘LI’
is left after erasing then the probability that the boy wrote the word PROBABILITY is
28 ds® ABILITY, PROBABILITY, FACILITY, MOBILITY &8 H@ed
orOir®), @dE 8 B0 TR, TS (08 8% &N Bod @iTren 8)
DAOID) @) 043R TOVRV. TOIRVN Sareh ‘LI' DA &0, )¢
& Jr$Q PROBABILITY SIF0), T°R) GOGERS (e) 0gradsed

Options :

21
1.« 116

7
2.% 116

| W

w2
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Two cards are drawn at random one after the other with replacement from a pack of
playing cards. If X is the random variable denoting the number of ace cards drawn, then
the mean of the probability distribution of X is

28 % 58 D0 25T ST HOTE TR S 0500 0
S’ 60T HOSS’ Bod DENHOD CIPEHDIE0T SrE. SO
NOPVI) ArN0D OGRS HOTE X ©D%oB), X By D05
27BN0 308 @08 500

Options :
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If X~ B(6, p] 1s a binomial variate and A=) =l , then p=
PX=2) 9
~B(6,p) 2.8 &5 SOT78 SO (i ‘2‘; é@mé @) p=
P(
Options :
1
1
2 % 9
1
3 % 3
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If the locus of the centroid of the triangle with vertices A(a,0), B(acost,asinf) and

C(bsint,~bcost) (tis a parameter) is 9x” +9y” —6x =49, then the area of the

: . %3 : . :
triangle formed by the line - +"E =1 with the coordinate axes is
a

15008 & Aa,0), B(acost,asint), C(bsint,~bcost) e 3T m KOS
32502 T0(¢5 275 T30E) DO D3 9 +9)” —6x =49 NS, = + % =1

ad 1
B9 AErnd @Fod J8)08 (@dha To50

Options:

49
1.% 2

| =1

2. %
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Correct Marks : 1 Wrong Marks : 0
By shifting the origin to the point (h,5) by the translation of coordinate axes, if the

i 2 C
equation y=x"—9x’ +cx—d transforms to Y =X, then (a' —ﬂ

AEFRNE T NIT0SE DOIBN0 T 5T e DORYD, (h,5) DoIT

SO0 y=x -9 +cxr-d ©F D080 Y=X' m Erarosdo Bods,
3 | d-5 |=

o)), (f ]J

Options :

1. % 0
2.+ 13
3. % 11

4. % 25
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The equation of the straight line whose slope 1s %2 and which divides the line segment

joining (1,2),(=3,5) in the ratio 4:3 externally is
£ocen (1,2) HB0W (3,5) ©F )R Barpom) 4:3 Adyes

SO DB, e ‘?2 T e $6¢Bar $¥EE0

Options :

0 2x+3y-12=0



, % 3x+2y+27=0

3 % 2x+3y-9=0

4 % 2X+3y+12=0
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Tx+y-24=0and x+7y-24 =0 represent the equal sides of an isosceles triangle. If
the third side passes through (-1,1) then a possible equation for the third side is

28 oD QLra (@D OB0E) WP EPON Tx+y-24=0 DHOON

x+7y-24=0 €0 QAFQDTTL0N. S0 20230 (-1,1) Dochey Hom s,
@) ST¢8ed 20Z30F0 AP ENES 28 DaEGEISN

Options:
1.% 3x—y=—+4
5 ¢ X+y=0

3 % Xx—2y=-3

4. % 3I+_F =i
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The combined equation of a possible pair of adjacent sides of a square with area 16
square units whose centre is the point of intersection of the lines x+2y-3=0and
2x-y-1=01s

x+2y-3=0a000%0 2x-y-1=0 0D 0 Doceyed Solcdorr O,

16 25, AL S50 EOR HehdB[0 TN &), 20BN DTS
2.8 DOYBIrosNK0 TI0E), G DaEte0

Options :

1. % 2x—y—1+4/5)(x+2y-3+45)=0
5 % Qx—y—1-4/5)x+2y—4/5)=0
3. # (ZI—_V—E\[g}(I—t—Z_v+2\/§]:{]

4. 2x—y—1-25)(x+2y-3+25)=0
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If the line 2x+by+5=0forms an equilateral triangle with ax’ —96bxy+#ky* =0, then

a+3k=

2c+by+5=0 B, a’ ~96by+ b7 =0 & 28 DSerT0 (8292080 D88,

@) a+3k =

Options :

1. % 3b



2.+ 192
3 ® 4b°

4, % 102
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A thombus is inscribed in the region common to the two circles x” +y* —4x-12=0

and x° +y* +4x-12=0.If the line joining the centres of these circles and the common

chord of them are the diagonals of this rhombus, then the area (in Sq. units) of the
rhombus is

x4y —4x-12=0 H8AM x* 4y +4x-12=0 Sy ol &snd [Frosod
28 0°00R @080 2R08. & Sy Jo|Te §O 59 DO & 59T
GG 2r5en 8 TroRn GXNE) AEPANe) GONS, 8 TP0N ITO0 (.
OrARS)

Options :
1. % 163
5 43
3. % 1243

4w 83
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If m is the slope and P(8,B) is the midpoint of a chord of contact of the circle
x*+y* =125, then the number of values of {8 such that p and m are integers is
Xyt =125 S8 fie) 28 067 25 BE) e m HBOKY ¢)§ Do
P(8,B) @00, B OO m e 2P T'05"eN @TDIIENOT B CINE) VeI
Q0 .

Options :
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A rectangle is formed by the lines x=4, x=-2, y=5, y=-2 and a circle is drawn

through the vertices of this rectangle. The pole of the line y+2 =0 with respect to this

circle is

x=4,x=-2,y=5y=-2 © T 2& & SHON0 V8)B08 HBAW & &Y

SO0 B ITOMHOTFTD 2.8 80 AoDHaBod. & SyBdo Sy,

y+2=0 G30E) (a0

Options:



3. % (_2! _2]

4. % (1,—4)
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The equation of a circle which passes through the points of intersection of the circles
2 +2y* =2x+6y-3=0, x* +y" +4x+2y+1=0 and whose centre lies on the
common chord of these circles is

20 +2y" =2x+6y=3=0 SO0 x*+p* +4x+2p+1=0 35906 Docse
D0C0YO HOT PSP, &8 BN eI 278 3 S0 HOA 2.8
S9B0 DaEBE0

Options :
1% 2x* +2y* =3x+4y-2=0
> % x*+y?+2x+5y-2=0

5 % 30 43)7 —2x+4y-3=0

44X +4y" +6x+10y-1=0
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If the equation of the circle which cuts each of the circles x°+y" =4,
X' 4y —6x=8y+10=0and x* +y* +2x-4y-2=0 at the extremities of a diameter
of these circles is x° +y° +2gx+2fy+c=0 ,then g+ f+c=

X+y =4, ' +y -6x-8y+10=0 5000 x* +y* +2x-4y-2=0 &3
SITOS (N ST a ¢S T0E) 28 arsdesn Ty §9er 56 P0&OT 2.8
S8 NoDEBEA0 ¥’ +)° +2gx+2 i +c=0 o, o) gtf+e=

Options :

1. %9

2.« —9

3 %12

4. % —12
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The equation of the circle passing through the origin and cutting the circles

X +y +6x-15=0 and x*+y* -8y-10=0 orthogonally is

200> DO HOT e B x° +y* +6x-15=0, x° +y* -8y-10=0
3BNO OOVTIAN0 TR S0 AnE), NGO

Options :

| % 2x°4+2y" =5x+10y=0
5> % 2x° +2y" —10x+5y =0
3 x X +y —2x+5y=0

4w X4y =5x+2y=0
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S=(-L1) is the focus, 2x=3y+1=0 is the directrix corresponding to S and % is the
eccentricity of an ellipse. If (4,D) is the centre of the ellipse, then 3a-+2b =

2.8 8% S90 g 78 S=(-L1), S 5 $020800 dahe T
2x-3y+1=0 HB0%0 &|@)0le % & B3 Se0 awy Soldo (4,b)

@OV, 3a+2b=

Options :

30
1.% 13



Question Number : 54 Question Id : 3838233414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S=y'—4dax=0, S'= )" +ax =0 are two parabolas and P(t) is a point on the parabola

S'=0.If A and B are the feet of the perpendiculars from P on to coordinate axes and

AB is a tangent to the parabola S=0 at the point Q(t,), then t, =
S=y'—dax=0,S'=y" +ar=0 e Bo JTHOATED HBAW §'=0 2 P(t) 23

Do), P0G AEFHE 953 AN ©202) artnen A B0 B &0 a08a5w
AB 0% S=0 HoeairR8 Q(t,) Docied & 0)8) 39 @ond, @) t, =

Options :

1. % 1

| =
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a and b are the semi-major and semi-minor axes of an ellipse whose axes are along the
coordinate axes. If its latus rectum is of length 4 units and the distance between its
foci is 42 , then a* +b* =

A& 90 F028 @FO0 §O8S 2.8 BY Sydein g ATE0 FEHS
N0 B0 [SPRR 80 FEYS N0 SHIM™ a HBA b. TR 7% ©020

GG 4 0N HBKW TR THO O Erdo 2 eond, &1k
@ +h' =
Options :

| v 24
, %18
5 % 16

4, %12
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4

2] (e L] LI . " L] rr: 1”
If the extremities of the latus recta having positive ordinate of the ellipse —+ b_’ =1
R

(a>b) lie on the parabola x” +2ay—4=0, then the points (a,) lie on the curve

Al +i— =1(a>b) Y S980 TE) STSE 1- AEFHESHS EORS

t
TDO0ere Fden x* +2ay-4=0 HoH00H0 2 G0B), @) (4,b)
Do0YED GOB HF0

Options :

1w Xy=4

3 % 4 I
S
4% 4 1
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If the tangent drawn at a point P(t) on the hyperbola x* - y* =¢” cuts X-axis at T and

the normal drawn at the same point P cuts the Y-axis at N, then the equation of the locus
of the midpoint of TN is

¥ =y =¢’ 08dTIO0H0R &8 Do) P(t) SO A §)8; O X-0FR) T
S 6050 T Do) P 6 A 990028 Y-95) N ¢ 208, TN
a8y, S0¢35 Doy g, DoNG HaEBE0

Options :

1.
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If the harmonic Conjugate of P(2,3,4) with respect to the line segment joining the
points A(3,-2,2) and B(6,-17,-4) is O(a, f,7), then @+ i+ =

A(3,-2,2) 8k B(6,-17,4) Hochayerd 3O B2 podko Syars P(2,3,4)
G308}, 08 0O Do O, B,7) BONS, Y)W a+ P+ =
Options :

2



th | 6o
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[f L is the line of intersection of two planes x+2y+2z=135 and x-y+z=4 and the

_— iz a +b* +c
direction ratios of the line L are (a, b, ¢), then ————— =

x+2y+22=15 00N x-y+z=4 S0 POt O L HB0% L O3},

B8 A)HEN (a, b, ¢) £ OB, ) "H:;“ .
2

Options :
1. % 14
2. % 10

3 % 22

4. 26
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The foot of the perpendicular drawn from A(1,2,2) onto the plane x+2y+2z-5=0
is B(a, B,7). If m(x,y,z)=x+2y+22+5=0 is a plane then —-7z(A): z(B)=
A(1,2,2) 0B x+2y+2z-5=0 00 DA% ADS ©oard0 B(a,b,7).
7(x,1,2)=x+2y+22+5=0 28 OB, -7(A): 7(B) =

Options :

1. % 15:32
2.+ —1:3
3. % —15:47

4. % —27:20
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. _|2cosx-1|
If0<x<x/2,then lm—
v—a 2cosx—1

2cosx—1

0<x<7/2 ©®ONS, IimM
x=a 2 cosx—]

Options :

, . T
does not exist at all points in [0,5}

{nﬂ S @) DORNIHD I 53S0 570

1. %



= | when uz%
= 1, az% €90 LR

= -1, when a=%
= -1, a ="/ oS

_ T
— 1, when 0<a< /3

s l, ﬂia{—% ST WINIS RTecV
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x—d|
|1H1

The real valued function f(x)= S

fX)= i QR PN TS |DaDONO
x—a
Options :

continuous only at x = a

| x x =250 TS DD ) S0

discontinuous only for x > a

, x X>a 8 S3°(H o) I SN

a constant function when x > a

3 v X > 20005 ) 28 VG (D0



strictly increasing when x <a

4 % X <2000 DG T (DO
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If f(x)=3x"=5x""+7x" +50cos(x—1), then lim FU-m—/l)

Ji—l) ;334‘3}!
£(x)=3x" =5x"" +7x" +50cos(x~1) eowes, lim ‘ﬂl_;h}_"{“] -
=) h- +3fil
Options :
1. ® =25
2. % 25
3. ¢ —10
4. % 10

Question Number : 64 Question Id : 3838233424 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



wﬂumhx
[f the function f(x)=9 4tanx is differentiable at x = 0, then
P =0

wh—Uﬂnh'riﬂ
f@=0 4tanx 7 o (H00H0x =0 S @580 @00, ©:))¢H

P ,x=0
Options :

N -

P=0, f(0)=—

- /'(0) 2

. I
P=0,f{0)=—=
2. % S 2

—
Pk SO=-7,

3.

ﬁszJKm=—£

4,
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It .1-’=10g(-r—w'x:—1)~ then (x> —1)y"+xp'+e’ +Jx? -1 =
_vzlug(:r—xff —l) ©ONSB, (x’ —l}}f*"+.xj"+e-"+\/.ﬁ=

Options:

1.% 0



2. % ]
% .-1:”_]

4.+ X
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The maximum interval in which the slopes of the tangents drawn to the curve
y=x"+5x" +9x" +6x+2 increase is

y=x 450 +90% +6x+2 SR8 AR 08 B 8 a5 104
P=xt 455 +9x° +6x+2 SRS AN )8y BPO arenen SOr0 edh] (8a
®0S00

Options :

5]
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If A={P (@, f})/ the tangent drawn at P to the curve ¥’ ~3xy+2=0 is a horizontal line}
and B={0(a,b)/ the tangent drawn at Q to the curve ' =3xy+2=0 is a vertical line}
then n(A)+n(B)=

A={P(a, )] y’ =3xp+2=0 508 P 3 iR 018,09 28 § 92 daros i)
0050 B={0(a,b)/ y' -3xy+2=0 S5°N8 Q & Ay 0809 2.8 § dze0209)
oS, )\ M(A)+n(B)=

Options :

1. % 12
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Ina AABC, the sides b, ¢ are fixed. In measuring angle A, if there is an error of 0A , then
the percentage error in measuring the length of the side a 1

2,8 (82920 ABCE', 2922060 b, ¢ €0 B, §630 A & FOSB0S'A F0
SATP &50%), ©1¢0 2920 a Tty Fodt0 & Baweo

Options :

1. %



2A8A
Rsin A

x 100

ZX%K!UU
2. # A

AOA g
3. ¢ 2R’sin® A

100

A’SA

4. ® Rsin A

=100
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y=f (T) and x=¢ (y) are two curves and P(x, V) is a common point of the two curves.

If at P, on the curve y=f (x),% =Q(x) and at the same point P on the curve X=¢ (1)
X

dx
dy

y=f(x) 0050 x=g(y) e Boch S(een SO P(x,y) are3 2 e 28 &l
D0, 1= 1) SEo PSS % - Q1) 5000 1=¢()) S0 D ©F Doch
X

=—Q(x), then

P 3G ;E =-Q(x) ©ONS, 8
y

Options :

the two curves have a common tangent

| % € BOCR S50 GG )8 B S E0Erow



the angle between two curves is 45°

2 % es 8o :)LE“E'_'J cﬁ)ég gﬁmo 45°

tangent drawn at P to one curve 1s normal to the other curve at P

2 o P3G 28 S5°08 A 06 B Bockss S8 P 5¢ edeow B

the two curves never intersect orthogonally

4 % @ 5PN BOGT D38 ©02T YN0 TS
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, x"logx, x#0 :
[fRolle’s Theorem is applicable for the function f(x)= ; B xt) on the interval
T
0, 1], then a possible value of p is
, "logx, x#0 ”
@080[0,1]3 f (x}={; L YT] % 58 7080 ©DSGACH0 oS,
,  X=
D 80 500G 2.8 De0ed
Options :
1. % —2
2. % —1
3.% 0

4.1
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¥ —x+1 .

The sum of the maximum and minimum values of the function f(x)== I IS
X+¥+

3

f(x)= ‘;—t: 900 TnE), 1022 SO ERa AN TS0
Y4x

Options :

17
1.% 4
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L =ML e (£ ——L Tan™
IFJJ_4+8I3+9¢.{1—;{[MTan (f(x)) VETEH (g{_r))}+c,

then J§+_}‘1(\/§)+g(]} =

1 L1 i 1 =
%l T2 x))——=Tan™ (g(x
'I'.r4+8x3+9air k[ 14Tan (/) N an (5[1])]“:

oS, J%+,f‘(\/§)+g(1)=
Options:

% 3-22
5 % V21
3 % 3+2\/E

4. 2+l
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If [(1+x—x") & dv= f(x)+c, then f(1)- f(-1)=
[(14x-x") e dr= f(x)+c wowd, f(1)-f(-1)=

Options:



2. €
]

e+—

3. % €
1

E‘—_

4. % €
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] =y

Options :
1 m xrrr +l e +
C
m-— 3
- m—1 X
m—1
_1 I :t:”: +l +c
n—1 X
2. ¥
=1 W™ #]
—| —_—— | e
m X
3 #

———— | +c

m X
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lfj('\l'CDSEC x+1 ]d’f kTan™ (f(l)]-}-ﬂ then HJ{(EJ

6

I(QCUSE{: .r+]).fit=kTan—| (f(x})+c T | “li‘.f.(fz]:

6

Options:

|
1. % 2
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3 25
J‘Cﬂﬂ —Cos’x| dx=
)

25

Options :

1. % 8



4, % 0
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If the area of the region enclosed by the curve ay=x" and the line X+ =2a is k', then k =
ay=x 5850 B0 X+ =20 Bpod esBondS (ros FFeo ki eand, k=

Options :

#
O 2

ro | W ba | O

W | B9
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[fm, [, 1, s, n are integers such that, 9>m>[>s>n>r>2 and

-

=}

I/
T T /9

sin” xcos" xdx=4 J sin” xcos” xdux, I sin’ xcos' xdx = 4J' sin’” xcos' xdx and
1]

[_IJ — 0

=

- 0

f sin' xcos” xdx =0 then

m L n s, neD, 9>m>1>s>n>r>2 OODELNT &) oJ°Q 0PN DO

- I
I

I :)

Jsin”’ xcos” xdx:-ﬂf.{ sin” xcos” xdx, Jsin”xcos” xdr:cljlsin"xcos‘xdx AeloWW
r

0

T 0
i
i,

_f sin' xcos” xdv =0 ©ONS,

,: f

Options :

1 % (8=2)(=2)=mr

5 % (§=2)(I+2)=rm+5
3 ¢ (8=2)(s+2)=In-3
4. % (=2)(1+2)=ms—5
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(., Yo
The order and degree of the differential equation = 1 +2 +d ”F+5 are
de | dy dx”

respectively

de | dy’
D0ITEIANEN A

Options :

; -
@:[d -"+2} £ 15 88e H088m0 Tk, $518 SO

1. % 2.1

o % 2,4

3 ¢ 2,2

4. % 2,3
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: . LAy, . .
If y=sinx+Acosx is the general solution of E}ﬁi (x)y =secx, then an integrating
X

factor of the differential equation is

% F(0)y =seex OIS HVLSTE y=sinr+Acosy PG FE
X

©0NS, & ©SEOS DDEB0 BNE) 2.8 Ddrde heato

Options :

2. % tan x



3 % COSX

4 % SInx
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Wave picture of light has failed to explain
5°0e3 5300 2779 NIBOVBID

Options :



photoelectric effect

1 v 50 DB HOB0

interference of light

5 % 5°0e3 H5e35BE0

diffraction of light

3 % 5P0& DVOS0

polarization of light
4 % S5°08 QYIEO
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A capacitor of capacitance (4.0£0.2) uF is charged to a potential of (10.0+0.1)V.
The charge on the capacitor is

(4.0+0.2) iF ZPODD) 60 2.8 TFVET & (10.0+0.1)VFBAHS & e533¢0
D, Tarnedd R e s RF0

Options :
| % 2.5uC+3%
5 % 2.5 nC+6%

3 % 40 uC+ 3%

4 v 40 pC+6%
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A body is thrown vertically upwards with a velocity of 35 ms™ from the ground.
The ratio of the speeds of the body at times 3 s and 4 s of its motion is

(Acceleration due to gravity = 10 ms™)

Zr) & DH0A 2.8 SN 35ms” oS §8E ©oor D AISR0E.
55069 T K0S 3 5 BT 4 5 FEPO &, TR SO A1)

(eh 5 & 58690 = 10 ms™)

Options:

13,;;34

33,52]

45,532
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From a height of ‘h” above the ground, a ball 1s projected up at an angle 30° with the
horizontal. If the ball strikes the ground with a speed of 1.25 times its initial speed of

40 msfﬂ the value of ‘h’ is

(acceleration due to gravity = 10ms?)

2720 a0 ‘h’ ) 0 2.8 SeY) § B2 NSrodTrRs 30° 0 TR B0
2§ (98 20 DOHAG0E. 208 FOD FTLY)IE TR B, T SO H&G

40 ms™ & 1.25 BEY @ h’ e

(0855 & s8ea0 = 10ms™)

Options :

«I.ﬁ ?Sm

2%60]’“

3%30“’1
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A block is kept on a rough horizontal surface. The acceleration of the block increases from

6ms™ to 11 ms™ when the horizontal force acting on it increases from 20 N to 30 N. The
coefficient of kinetic friction between the block and the surface 1s

(Acceleration due to gravity = 10 ms™)

28 B8 § 323 NP0t )0 2 28 AR GONDR0A. AN DA OV

8 8323 NS08 200 20 N D0 30 N 50 AN, TR ¢ 56690 6 ms™ o 11 ms™
) 2BM0E. AR08 DB X8 S¢S e Kl anden Heaso

(H08oeh s & 58890 = 10 ms™)

Options :



| %02
5 % 0.3

5 v 04
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The kinetic energy of a body of mass 4 kg moving with a velocity of (21 =4/ -k) ms™ is
(20 -4j-k) ms" Srios $chrencn) 4 kg (595073 o> 2.8 585y Ty, tides 48

Options :
| % 841
5 % 631]

s wd2]

4 %21
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A ball P of mass 0.5 kg moving with a velocity of 10 ms™' collides with another ball Q of
mass | kg at rest. If the coefficient of restitution is 0.4, the ratio of the velocities of the
balls P and Q after the collision is

10 ms™ S0 SR 0.5 kg (5078 Ao 2.8 208 P, T BS &) 1 kg
855073 Ko T8 208 Q A BEEIA. (HErsdare Hhesso 0.4 ®ond, @dirdo
SEare P 005N Q 20600 Jre) A

Options:

Z.Q 2?
3.ﬁ 2:5

4. % 56
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A circular plate of radius r is removed from a uniform circular plate P of radius 4r to
form a hole. If the distance between the centre of the hole formed and the centre of the
plate P 1s 2r, then the distance of the centre of mass of the remaining portion from the
centre of the plate P is

4r F5E0 ) 28 808 SHTTE D08 P 00 r PO HO 28 SHTFTE
D8 G0(d0 EIDTNLH SO0, HBIBS G0 Zoldo Do,
H©¥ P 30(30 %) Ao 2r @ond He¥ P 3030 0@ RO 2o G
1&550°3 So(G%0 &rdo

Options:

—_
#®
W=



4, % 2r
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A hollow cylinder and a solid cylinder initially at rest at the top of an inclined plane are
rolling down without slipping. If the time taken by the hollow cylinder to reach the
bottom of the inclined plane is 2 s, the time taken by the solid cylinder to reach the
bottom of the inclined plane is

8025065 28 TS0 DPH0 SG Ao VB’ o) 2.8 e A0 SO
28 N A0 NS00 Joad ardiom SN, aendeo (§ods
DK FeNATN0R HEN 500 2 5 NS, TS0 (§0B8 TEIIE 50
P8 AN 700

Options :
1. ® 2s
2 % 1414 s

3.%1s

4.4+ 1.732 s
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A block kept on a frictionless horizontal surface is connected to one end of a horizontal

spring of constant 100 Nm™ whose other end is fixed to a rigid vertical wall. Initially
the block is at its equilibrium position. The block is pulled to a distance of 8 cm and
released. The kinetic energy of the block when it s at a distance of 3 cm from the mean
position is

28 882 D3ros8 $003 GoadS 28 B3 100Nm™ 20 dorodo
$ORS 2.8 § 82 Dr0sE ()00 2.8 DR 883, 12100 Bocs DB 2.8
BB §8% ©oa FE% Diomd. Eréodos B TR ddhEpe
F0S’ GBS, B 8 em Brdo erf SAOB. By A Sresadd F0
S04 3 em BrE0S &)1 TR e 38

Options:
1. % 0.651]
2. % 0325

3.+ 0.275]

4. % 0.551]
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The ratio of the radii of a planet and the earth is 1: 2, the ratio of their mean densities 1s

4:1. If the acceleration due to gravity on the surface of the earth is 9.8 ms™, then the
acceleration due to gravity on the surface of the planet is

28 (170 OO0 21TaD ARNE) ST D) 1:2, a3 Dt AP0 w.)ed
4:1, B> GHOSO0 B HASS S5Gea0 98 ms? @and, [T &H0S$00
VS IRTTTOANW

Options :

% 49 ms”
, % 8.9ms™

5 % 294ms™

4 19.6ms™
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A wire of cross-sectional area 107 m” is elongated by 0.1 % when the tension in it
is 1000 N. The Young’s modulus of the material of the wire is

(Assume radius of the wire 1s constant)

S65B) FF©50 10° m? fie) 2.8 & S0 B85 1000N &3):)¢0 RS
IO 0.1% 00, & S HDEd DO Hesm

(5 F5RrE0 VEOM SOGHTREW)

Options :

1 % 10" Nm™



, » 10 Nm™
5 % 10 Nm™

4 % 10” Nm™
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The work done in blowing a soap bubble of volume V is W. The work done in
blowing the bubble of volume 2V from the same soap solution is

DVOSTEIN V o) 2,8 D20 2068156 &0EIS) TONSOR® DA W,
RNOITEI0 2V ) BT D2 |ET3e9s) 20D DT TADSOVN DA

Options:

V.
4 {4) ' W
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Three identical vessels are filled up to the same height with three different liquids A, B

and C of densities p,, py and . respectively. If p,> pg > P, then the pressure at
the bottom of the vessels is

S NE TR N SOS Py, Pg DOAW P OGS Ko A, B HOBOW C
O T B0 4D |OTOD 28 ) BT AOFED. P> Py > P OOV, F\ehe>
RN ARUNVNIRTA TN

Options :

equal in all vessels

| % ©O) FISOS DITFIOM GO

maximum 1in vessel containing liquid C

5 % ([BS3XW C &) (S HONOM SO

maximum in vessel containing liquid B

3 % (O3S B &) (&S HOROM SO

maximum in vessel containing liquid A

4 v Q0330 A €5ed) (S HORNOTT GO
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Steam of mass 60 g at a temperature 100 °C is mixed with water of mass 360 g at a
temperature 40 °C. The ratio of the masses of steam and water in equilibrium is

(Latent heat of steam is 540 cal g and specific heat capacity of water is 1 cal g™ °C™")
100 °C e5&F(15¢b 236 1) 60 g (a5 T°F 1) aTad )eed, 40 °C s\ ifed S ffe)
360 g (35507 110 NS EOrE. NDERBS’ 275600 B A3
5350750 S

(7)) 2596 1hEPR0 540 cal g SO DE3 ISP ~revedso 1 cal g™ °C

Options:

1.+ 1:20
2 % 1:10
3, # 125

4. % 1:3
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The temperature difference between the ends of two cylindrical rods A and B of the same
material is 2:3. In steady state the ratio of the rates of flow of heat through the rods A and B
1s 5:9. If the radir of the rods A and B are in the ratio 1: 2, then the ratio of lengths of the rods
Aand B is

23 Drgod Soird TahadS A HB0 B @ ok AFarss §§@ T QS
&S oo DB 2:3. Jo¥t WSS, A LW B 400 507 ¢ DTN
)8 5:9. A 005 B EEO TRrTe )8 1:2 @and A 500k B §30 Srye
RN

Options :

1. % 2.7



2 % 3.7

3 % 2:5

4.+ 3:10
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When Q,amount of heat is supplied to a monatomic gas, the work done by the gas is
W. When Q,amount of heat is supplied to a diatomic gas, the work done by the gas is
2W. ThenQ,:Q,=

2,8 DEHESTENE TONYH Q) SR HEXT TDS € oY TS DA W.
28 QSNEITENE TONHH Q, GRSV NENT® T, & PO TR DA

2W. @0 Q,:Q,=
Options :
1. % 2.3
2. % 3:5

3 % 5.7

4.+ 5:14
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The temperature at which the rms speed of oxygen molecules is 75% of rms speed of
nitrogen molecules at a temperature of 287 °C is

287 °C &8P & Ko DSBS @enye ms SAS' 75% ms S Ko 8BS
eV GaY](ied

Options :

1.v 87 °C

2. % 127 °C

3. % 227 °C

4 % 360 °C
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The path difference between two particles of a sound wave 1s 50 cm and the phase
difference between them is 1.8 7. If the speed of sound in air is 340 ms™ , the frequency

of the sound wave 1s

28 (559 501065 Bo Doy K N0 50 cm SHBOM a7 XSS
S72530 1.87. MO &5 S& 340 ms™, @00 ¢35 S$B0 Fressys0

Options :

1. ® 672 Hz



% 306 Hz

3. 612 Hz

4. % 340 Hz
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A source at rest emits sound waves of frequency 102 Hz. Two observers are moving

away from the source of sound in opposite directions each with a speed of 10 % of the

speed of sound. The ratio of the frequencies of sound heard by the observers is

F)OVBES &) 2.8 2550 102 Hz Fredesyedso e 30SE0me e ye

DA, AP HBRKIE 28855 B4R SAE 10 % SAS $53B8

B3OS 2550 0B ArGom BEHT)E. 8K 8T I

DRI Ve )&

Options :
1. % 9:11

2.+ 1:1

3% 7:9
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The power of a thin convex lens placed in air is +4D. The refractive index of the

3 . 3 ~ . ¥ ¥ " W " W [
material of the convex lens is 5 Ifthis convex lens is immersed in a liquid of refractive

index % then

TOS oA 28 D)8 H0ersd §&% o +HD. H0rsd §ed
S0 SESSS 8o % & 5008 EESNS % S8 880 o 28

[ANINWEAN

Options :

it behaves like a convex lens of focal length 75 cm

1 % @& 75 cm J7ePS0SG0 10 H0027SS 0B DOV

it behaves like a convex lens of focal length 125 ¢m
5 % @8 125 cm J"T$0SB0 K50 F002T5E EE3509S HATIOIND

it behaves like a concave lens of focal length 125 ¢m

3. v @8 125 cm 7250550 (10 $YEFSS FEE0IS DATIAND

it behaves like a concave lens of focal length 75 cm

4 % @8 75 cm J2T0SE0 N PSS EE1%055S HATIOIND
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The refractive index of the material of a small angled prism is 1.6. If the angle of
minimum deviation is 4.2°, the angle of the prism is

50 §690 SO0 2.8 NS HTY) (8258505 118950 1.6. Sk AdeS 90 4.2°
@00, HEE T80

Options :

1. i’ 4.ZD

2. 1°

3 % 4.8°

4% 97
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The Brewster angle for air to glass transition of light is
(Refractive index of glass = 1.5)

5083, ) OB M) HO(E0 TOAEY I (220700 §'ea0
(723 582538 reaso = 1.5)

Options:

Sin” [EJ
1. % 2

3.¢
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A proton and an ‘o’ particle are both accelerated from rest in a uniform electric field.

The ratio of works done by the electric field on the proton and the a-particle in a given

time 1s

508 DS FB0S 28 (FErD HBo 28 ‘@ §60 )OS Hod

& (565830 Do, A BS TS S T (S0, [Ferad HBAw ‘o

8690 2 BN Do) Thg) Ay

Options :
1.¢1:1
2 %1:2

3.#1:4

4_23411
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Two capacitors of capacitances 1uF and 2 uF can separately withstand potentials of

6 kV and 4 kV respectively. The total potential, they together can withstand when they
are connected in series 1S

| uF OO0 2 pF SPABR)eN 0 B0 STRE®, ARIRT ST 6 kV

B0 4 kV FBRADHS & 80O, DR 35S’ EONS8 I 99 Bodkr
$OR 8031 IS0 FBNOHO

Options :

1.+ 9kV
2. % 4kV
3. % 6kV

4. % 2kV
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The resistance of a wire 1s 2.5 () at a temperature 373 K. If the temperature coefficient

of resistance of the material of the wire is 3.6 X10™ K™, its resistance at a temperature
273 K is nearly
373K &1 56 o8 et TRy TG0 2.5 Q. & Hrrdo B3nE) esfiiE A8

%80 3.6 x10° K™ evond, 273 K Gaf|116b & o T3y, AT esrorr

Options :

1.+ 1.84 €

2. % 2.46 Q



3. % 0.82 Q)

4. % 4,58 Q)
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When two identical resistors are connected in series to an ideal cell, the current through
each resistor 1s 2 A. If the resistors are connected in parallel to the cell, the current
through each resistor is

B0 S QBT (FBS 2.8 e586) 2erd8 €92, 2,524, AFEESD
DS (DTF0 2A. & Bo ABHTON 0ErA8 drosdom O, 8%
QBEE0S'R DSS RNarsF0

Options:
1.v4A
2.% 2A

3 % 8A

4. % 1A
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An electron falling freely under the influence of gravity enters a uniform magnetic field
directed towards south. The electron is initially deflected towards

e ;586 D270 D 5S)T (BoB8 HEN) 28 JO|TH, G860 BFT &)
28 D508 o008 F(do SR8 390008, Fend T N80
Tod &2

Options:

east

west

2. % DC8NS

north
3 % &éédo

south
4 % 880
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Two long straight parallel wires A and B separated by 5 m carry currents 2 A and 6 A
respectively in the same direction. The resultant magnetic field due to the two wires
at a point of 2 m distance from the wire A in between the two wires is

5 m ErEane 38 DDA Bodk PRI B) A N0 Siien A B0
B €2 S80I 2 A 08050 6 A DS (aFsTO 28 BIES SO Gy ow.
Bod 8fe) Sucds, & A (0B 2 m Br80 & 116 Do) & B edife) S0
807 HOS w06 3|0

Options :

1. % ZXI{)&T



5 »2x107 T

3 % 4x107 T

4% 4x10°T

Question Number : 110 Question Id : 3838233470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A short bar magnet placed in a uniform magnetic field making an angle with the field

experiences a torque. If the angle made by the magnet with field is changed from 30°
to 45°, the torque on the magnet

2.8 508 90hHir, 06 3065 GotsdS 2.8 &8 domrahinry oo, §(Sos
T08690 TOINXY D TR Foeb Er5), HATAND. 3(S0S ©0HRI)080
D050 Fe), 30° 0 45°%0 £7°8))8, @OHR) 0809 DA B Er6),

Options :

increases by 50%

1. % 50% DN

decreases by 50%
5 % 50% SSPD

decreases by 41.4%
3 % 41.4% &P

increases by 41.4%
4. v 41.4% 208N
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The mutual inductance of two coils is 8 mH. The current in one coil changes
according to the equation [=12 sin100 t, where ‘I’ 1s in ampere and ‘t’ is time in

second. The maximum value of emf induced in the second coil is

Bk & IO 3558 (B 50 8 mH. 28 & QS DS (DaTaT0
[=125in100t HDESET) IO SrBH) B, 7S T 80O &
S0 ‘' £00 VERS’. BOS &1 tHQS (20T 1B emf DV

Options :
1.+ 9.6V
o % 48V

5 %32V

4 %128V
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An inductor of inductive reactance R, a capacitor of capacitive reactance 2R and a
resistor of resistance R are connected in series to an ac source. The power factor of
the series LCR circuit is

[D8%65 ¢ HSDI0 R 56> 2.8 850, &0 § 1DSFN0 2R 0> 28 TFRD
208050 TR0 R Ke) 2.8 AFRE0 FSBS 2.8 ac 23508 Sennadaron. (363
LCR 230050 0308} ard@s 52850

Options :

]
v 2

N
i
S -

w
S
| —

V3
2

4. %
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The efficiency of a bulb of power 60 W is 16%. The peak value of the electric field
produced by the electromagnetic radiation from the bulb at a distance of 2 m from the
bulb 1s

{L =9x1(’ NmzC'EJ
dne,

60 W 70050 fie) 2.8 20e0) T8} 6988 16%. 2e0) H0& NS
DAY 0 DEBEIO IO Eeh 1091 0T DS T (65 TS e 260)
808 2 m &rdosS

( l =9x|0*Nm3C'2]

dne,

Options:

| % 24Vm'

, % 16 Vm'

3 % 9 Vm-l

4, v 12Vm®
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The work function of a photosensitive metal surface 1s 1.1 eV. Two light beams of
energies 1.5 eV and 2 eV incident on the metal surface. The ratio of the maximum
velocities of the emitted photoelectrons is

2,8 6 82 8 S'sy S0 HR (HDAVO 1.1 eV, Few 1.5 eV HOA
2 eV 0 DO 508 0B0e) 3% S003) NSSHON. GO ¥’
O[T 03 e e

Options :



1. % 3:4

2 l:]

3. 23
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The ground state energy of hydrogen atom is —13.6 eV. The potential energy of the
electron in the first excited state of hydrogen 1s

TEBS HOSTEN) Ty, 2rrom 3§ —13.6 eV, FEBS IS B82S
TS R JOFD Ty Vedes §8

Options :

1. ¢ —6.8¢V
2 % —3.4eV
3 % —13.6eV
4 % —27.2¢€V

Question Number : 116 Question Id : 3838233476 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
After the decay of a single 'B' particle, the parent and daughter nuclei are
2.8 B 90 A30E) .00 Sared 2358 HBAW 2 So(Trew

Options :

isotopes

| % OFEHew

isobars
2 « D&FrOeD

1ISOMers

3. % N0

1Isotones

4. % 33556565&1]
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A , U™ nucleus decays to a o, Pb*" nucleus. The number of @ and f~ particles

emitted are

28 ,, U™ 80680 §.090 Tod (,Pb™ T0|¢380 ™ S8y )¢ adSe o
AW P~ 8o oS

Options :

1.« 6.and 2

2. % 3and 3



3 % 2and 6

4. % 3and 4
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[n an n-type semiconductor, electrons are majority charge carriers and holes are
minority charge carriers. The charge of an n-type semiconductor 1s

n-5%0 &8 FrEoS DO TR S N0FTSE arsteD DA Jo|ren
©©)) HOgrss aFersen. n-850 8 o BwE) 8330

Options:

negative
1 % 20T Y0

positive

2 % Cﬁﬁ“ﬁé@

neutral

depends on the dopant
4 % rOI50 SLPEIHD
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The region in the output voltage versus input voltage graph where a transistor can be
used as an amplifier is

ETIND & SPEOT FELH AF STE, ASF ST2 05 (7D S’
(r0eb0

Options:

active region

1 v 1805 3 ([roso

cut off region
5 % SE39 (°050

saturation region

3. % V0YH) [0SO

passive region
4 % QAT &) (2r0ho
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For an amplitude modulated wave, the maximum and minimum amplitudes are found
to be 10 V and 2 V respectively. Then the modulation index is

BN HONE JrEIBAS TODAAN 2.8 S801 (0 OGN ERa) 09
HONBIEN SR 10 V DO 2 V 1P @), @00 SrisSae
QL)

Options :

1
1.% 3



N
#
| w

1
3.% 5

2
4. & ?
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The wavelength of an electron is 10 nm. What is its momentum in kg ms 19

(h=6.625x10 J 5)

28 TS 5015850 10 nm. T (B35S0 kgms™ o 20e8?
(h=6.625x107 J 5)

Options :

| % 6.625x107"
5« 0.625%107
L 6.625x107

4 % 6.625x10™
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Two statements are given below

Statement I: In H atom, the energy of 2s and 2p orbitals is same
Statement II: In He atom, the energy of 2s and 2p orbitals 1s same
80 BOh 3§05 Rad SOF°ON

55 I: H HESTe0HS’ 25 08050 2p @8¢5 38 De5rdsdn
5208 11: He HBS7e)eS 25 o000 2p e38)87¢) ¥8 0drrdedn

The correct answer 1s
BB DTS5

Options :



Both statements I and II are correct
1 % o$S 1 o0BA%W g s I DO SO

Both statements | and Il are not correct

5w 5 10808 358§ 11 DO OQDD S°a)

Statement | 1s correct but statement II 1s not correct
3« DS T OBBSE 5% s 1T DO $°¢

Statement I is not correct but statement II is correct
4 % 55T OIS 52 R s I HOTSE
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The set containing the elements with positive electron gain enthalpies is
7928 DO\ T (TS DOTOIENN) PO EOANS) Ded

Options :
1. % S, Se, Te
, » Kr, Xe, Rn

5 % CLBr, 1

4. % K, Rb., Cs
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Assertion (A): The ionic radii of Na'and F~ are same

Reason (R): Both Na' and F are isoelectronic species
Q)50 (A): Na' 00050 F @ @058 SP5argre)) Qodrddo
5820 (R):  Na' HOANF e Bodr QeSS 23°edoe
The correct answer 1s

HOTIS DSFCTSS0

Options :

(A) and (R) are correct. (R) 1s the correct explanation of (A)

: % (A) SO0 (R) €0 HOTSD. (A) 80 (R) HOTS DSSeD

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HOAW (R) €0 BT, SR (A) 80 (R) SBTS DS5GeD 5°¢

(A) 1s correct but (R) 1s not correct

3 % (A) DODIB R (R) OIS 5°¢»

(A) 1s not correct but (R) 1s correct
4 v (A) QOIS 570 5 (R) OIS
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The number of lone pairs of electrons on central atom of CIE,,NE,, SE,, XeF,

respectively are

CIE,,NE, SE,, XeF, © S0(¢5% D357e0a) abed &), 2,080 Z06) JO| TR
QODEN ST

Options:

. % 0,1,0.2
5 % 2,1,0,0
3w 21,12

4. ® 2..]..1,0
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The hybridisation of central atom of BE,, SnCl,, HgCl, respectively is

BE;, SnCl,, HgCl, & 30(¢5% HEe0s) TnE) 0088880 SEm

Options :

2 z ..
1o SP i Sp°,sp

|

2 % SP", 8P, Sp
e i
3 % SP,Sp7, Sp

: 2
4 % SP 5 SP 5P
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The variation of volume of an ideal gas with its number of moles (n) is obtained as a

graph at 300 K and 1 atm pressure. What is the slope of the graph?

2.8 83806 DSNOITROS R S38) R IrS© HOWS (n) HSOT,
latm ¢8ea5, 300 K 3¢ (D &r06S” ©80D08. [P Tg), e Joes?

Options:

;% 246L

5« 24.6 Lmol™

1,

3. % 24.6

LL"'m:::u]
4. % 24,6
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Observe the following reaction

180A 38530 D8OOI

2KCI10,(s)——2KClI(s)+30,(g)

In this reaction

&s 985S



Options :

Cl 1s oxidized and O 1s reduced

1 % Cl 38 185€90 TOAOE HBAW O § 0HESE0 ToBOE

Cl 18 reduced and O 15 oxidized

, » Cl £ 0988600 ToHOS HBAM O &8 580 ToHOS

K is oxidized and O is reduced
3 x K &8)58800 ToB0A 0805 0 §00%5e0 ToH0S

K 1s reduced and Cl 1s also reduced

4 % K 80086600 TOHOE 8w Cl &iwes §.05038620 ToHOH
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The ﬂfHe of AQ(s), BO,(g) and ABO,(s) is ~635, x and ~1210 kJ mol” respectively.
ABO, (s) = AO(s)+ BO,(g) ; A, HO = 175 k] mol™*, What is the value of x (in

ki mol™y?

AQ(s), BO,(g) Shda%n ABO;(s) © AHO denden SRR -635, ¥ Ak
~1210 kJ mol ™", ABO,(s) - AO(s) +BO,(g); AH® =175 kJ mol™. xDexnd (
kI mol” ©&) does?

Options :

1. % -7150

, % +400



3 v -400

4 % +750
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At 27°C, 100 mL of 0.5 M HCl 1s mixed with 100 mL of 0.4 M NaOH solution. To
this resultant solution, 800 mL of distilled water is added. What is the pH of final
solution?

27°C 53¢ 100 mL 0.5M HCI & 100 mL 0.4 M NaOH |i79608 $Dardd. o8
(TSR 800 mL 50980 23e7R) EOPS. S T390 pH Oeh?

Options:

L % 12,0

5 2.0

5 % 1.3

4 %10
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The proper conditions of storing H,O, are
H,0, & Qo5 TaHerd8 OB H8ehen
Options :

Placing in wax lined plastic bottle and kept in dark
1 v X0 FRS TAE IS’ &0, DEES” &othHed

Placing in wax lined plastic bottle and exposed to light

5 % D0 FIS TR VIS’ GO, SPOBE GOTHE

Placing in wax lined plastic bottle containing traces of base

3 % SFIF(S0 0K SO JPAS FVE S’ &GotHed

Placing in metal vessel and exposed to light
4 5 S IBS GO OB GOHE
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The standard electrode potentials E (V) for Li'/Li, Na'/Narespectively are

Li'/Li, Na'/Na® 10578 do§8 SRS densden E'(V) S

Options:
| v -3.04, 2.714

, % -2.714,-3.04

5 % -3.04, -3.04



4. % -2.714, -2.714
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The alloy formed by beryllium with ‘X" is used in the preparation of high strength

springs. ‘X’ is

BODAHO X’ & BIBH IS 5T ©AE 200 e (RI0HO SASPS

TOMEIR GITTFAT. X’ &I

Options :

1. % Al
2 % Zn

g% Cr
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What are X and Y respectively in the following reactions?

1B0& BSOS’ X DB Y €0 SO d?

CO NaH |

Options :

1.



. BH,-2C0; NaBO,
, » BH,-CO; NaBH,
.« BH,-CO; NaBO,

BH, -CO; Na,B,0,
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Which of the following statements are correct?

808 5@OS HETSD IN?
(i)  CCl,undergoes hydrolysis easily

CCl, 0o 20NN ToS08

(1)  Diamond has directional covalent bonds

B8 OFS)8 NI 05T §6) Anotnod
(i)  Fullerene is thermodynamically most stable allotrope of carbon

GRS TR0 (HFE0 FE)S EFFoSTOS YO8 ©OE DS Eraroddo
(iv)  Glass is a man-made silicate

P2 § (S0 SArARoHAGS 2.8 VOZE

The correct answer 1s

HBTR RSP0

Options :
1, 111 only

1 1y dil SPSD



ii, iv only
5 o i, 1V P9

ii, iii, iv only

3. % i, iil, iv S

1, 11 only

4 % 1, 1 (S
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Which of the following industries generate non-biodegradable wastes?

1808 HBFNOS’ DB B DY), IOSBA 58 DT eed 30

BON?

Options :

Cotton mills
| % D Meen

Paper mills
5 % S°Heds) aeNeN

Thermal power plants

3 v BEO VIS DO TTED

Textile factories

4. % ST A T FrE8en
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Possible number of 1somers including stereoisomers for an organic compound with
the molecular formula C,H,Br is

C,H,Brarier e 28 568 O gsndd (B3 By iod o

U ATVINVIEVEART RN o T

Options:

1. % 3

2. % 4

3¢9

4. % 2
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The alkane which is next to methane in homologous series can be prepared from
which of the following reactions?

De023eh (33’ TS ST 18 )& & (808 3850 F¢3 DHod S$asrdy
308!

Na
| ZCH‘BTW
I CHCOOH— O,

M  CHCH=CH,—2™,

IV CHCHBr—2—

Correct answer 18
QO 2720

Options :

[, IV only
1 ¢ LIV 3r&dd

11, III only
> = 1L III 575

I, I1I only
3 % I, I S(e53d

IT, IV only
4 % 1L, IV Sr|edad
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At high pressure and regulated supply of air, methane is heated with catalyst ‘X" to
give methanol and with catalyst 'Y’ to give methanal. X and Y respectively are
28038 2850 0050 Ao O, &(B)550°X’ H0§0S DT
3B TR DO ADJ0E DB &G(B)8%0 'Y’ & DHTSD BDY0E.
X o800 Y &0 )

Options:

1 = Mo,O;, Cu
, « Cu, Mo,0,
5 » V,05, KMnO,

4 » KMnO,, Cr,0;
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What is “Y’ in the following set of reactions?

BoB TS DWENOS” ‘Y’ D& ?

C,H, HO 3y, (00 v

Hg™" /H' (1) Zn+H,0
333K

Options :
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The molecular formula of a crystal is AB,0, . Oxygen atoms form ccp lattice. Atoms

of A occupy X % of tetrahedral voids and atoms of B occupy y % of octahedral voids.

xand y are respectively

28 088 eeartner AB,0,. 683120 JOTFEDEN cep ZPOFV) 8OO, A
GSTENYEN X % BLFIFEO S0[TTOD OO B ESTEDIEN y % ST RSO
30T &850t 0. x DB y € DT

Options:
1.« 12.5%, 50%
5 % 50%, 12.5%

5 % 33.3%, 66.6%

4 % 06.6%, 33.3%
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At T(K), 0.1 moles of a non —volatile solute was dissolved in 0.9 moles of a volatile
solvent. The vapour pressure of pure solvent is 0.9 bar. What is the vapour pressure
(in bar) of solution?

T(K) 5 0.1 IrS© 0927030 (TR, 0.9 IS © e )20 (eSS
B8R0, DO a1 0.9 bar, TS 2 (bar ©¢)
208’

Options:

. % 0.89
5 % 0.79
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Two statements are given below

Statement I: Molten NaCl is electrolysed using Pt electrodes. Cl, is liberated at anode

Statement I1: Aqueous CuSO, is electrolysed using Pt electrodes. O, s liberated at cathode
The correct answer is

1805 BOh) 5N Ded §20 FON
55 -1 B8 NaCl Q Pt do|§HoOM GHRr00 &0 136 MO,
a8 S Cl, Jenddod

595 -1 CuS0, 3o|mSerd) Pt dO[§E & GHTrA0D A5O s3nem
0. SO SO 0, IendBod
0% S0

Options :



Both statement I and Il are correct
1 % o$DS - [ 0OAW 75§ - 11 DO SOV

Both statement I and Il are not correct

5 % o°§S - 1 DO 353§ - 11 DO SORDD) 5%

Statement [ 1s correct but statement II 1s not correct
3 v DS - [ QOTDIA, 5 5§ - 1T SO 5°¢

Statement I 1s not correct but statement I is correct
4 % DS - 1 QBRI 570 5 5§ - 11 SOTDIE

Question Number : 144 Question Id : 3838233504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For a first order reaction, the graph between log (on y-axis) and time (in min,

(a—x)
on x-axis) gave a straight line passing through origin. The slope is 2x10” min™"

What is the rate constant (inmin™ )?

2,8 [96a (8508 58580, log (y-@303) HBAN 0 (min © &, x-

(a-x)
®©F02) © (IT9 IR0 HOGE® HOHA0H DB TN AN Y08, aren
2x107 min ™", Bew Vorodedn (min”' © &' ) J0es?

Options :

. = 2x107

2x107
2. % 2303




L, 4.606x107

4 % 0.5x10°°

Question Number : 145 Question Id : 3838233505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Haber’s process of manufacture of ammonia, the ‘catalyst’ the ‘promoter” and
‘poison for the catalyst’ are respectively

3526 HOBS @BMAT SOFES ‘& 15850, (DSTELD’ S8k
‘G| B)I58 DT PN’ ST

Options :

1. % FE., W. CcO
) % Co, Mo, CO
3. # Fe, Mo, CO

4. v Fe, Mo, CO

Question Number : 146 Question Id : 3838233506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the calcination process is

80 3¢3¢5° 2500285620 (DBOD

Options :



. % 2Cu,8+30,—2>52Cu,0+250, T
, » ALO;(s)+2NaOH(ag) +3H,0(/) — 2Na[Al(OH), ](aq)
5 % 2CuFeS, +0, — Cu,S+2FeS+80, 1

4 FBEOF..THZO{S];}FEIO:{{S}+.THZO[g}

Question Number : 147 Question Id : 3838233507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct order of boiling points of hydrogen halides is

BB FFBEO DI e DO 1500

Options :
1. « HF < HCl < HBr < HI
2 % HI < HBr < HCI < HF

3. v HCl<HBr < HI < HF

4+ HBr <HCI < HI < HF

Question Number : 148 Question Id : 3838233508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Observe the following reactions (unbalanced)

B0& 9850 HBID0I0 (050 TAN2IES D)
P,O,+H,0—>X

PO, +H,0>Y

The number of P =0 bonds present in X, Y are respectively
X, Y 6 &0k P=0 205 Do SEaMm

Options:

1.% 1.3

2. % 1,2

-3

av11

Question Number : 149 Question Id : 3838233509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Carbon on reaction with hot conc. H,SO, , gives two oxides along withH,0 . What is

the nature of these two oxides?

$5)® 3G reh H,80, & 585 Sod, H,0 & arewn, Both 53160 Aod. &
80O &3)R N {2750 Deed?

Options :

Both are acidic
|« DOC &0 Q52700 O



Both are basic

5 % D0 50 Q52790 5

Both are neutral

3. % DOCET S 52750 S

Both are amphoteric

4. % OOCT &8 527790 )

Question Number : 150 Question Id : 3838233510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following orders is correct for the property given?
1808 ESreeS 2N 58S 078 HBTIA AO?

Options :

Cr < Mn < Fe- standard electrode potential value for M /M*

. % Cr<Mn<Fe- o3& MM o 10550 0§86 FBROHS

-

Cr** <Mn”" < Fe® - magnetic moments
, x Cr'" <Mn”" <Fe™ - @90} 06 (25°:057ew

VO; < Cr,02" <MnQ; - oxidizing power
5 VO3 <Cr,0” <MnO; - 88860 Js0@50

Ti<V <Cr - first ionization enthalpy
4 % TI<V<Cr - (D60 @BNIBAS OTO)



Question Number : 151 Question Id : 3838233511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in increasing order of their crystal field splitting energy

1808 T3 ared D)¢38 T b DS 3§ DO 15908 @008

1 [Co(H,0),]"
I [Co(NH,)J"
Il [Co(CN), "
IV [CoE
Options :

1= I<I<II<IV

, wIV<I<II<III

3 x I<HI<II<IV

4w IV<II<I<III

Question Number : 152 Question Id : 3838233512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What are ‘X and ‘Y’ respectively in the following reactions?

1808 S80S X HOO Y € HERT Y ?

Polymer used in making Y oi X Polymer used in manufacture
of safety helmets -« HOZ NV ——5 ofpaints
688 B’ 20008 & SoirdS'
$0irdS’ 8 FOHG 8 FOHG

Options :

@CGOH O COOH
COOH , HOOC

COOH COOH
HDOC’@/ ’ Q'

COOH

COOH COOH
@ ’ HOOC’@,

COOH

COOH @C‘ODH
HDOC’@, ’ COOH

1.4

3. %

4, %

Question Number : 153 Question Id : 3838233513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Two statements are given below

l Milk sugar is disaccharide of « -D- galactose and f -D-glucose
[ Sucrose 1s disaccharide of « -D- glucose and B -D-fructose
180 BOCH a5 SEN Qe S

[ e 19838, o -D- Te§e 805 B -D- ire’s e BF58&
I EE, a-D-IrEE oo f-D- HEE e BTEBE
Correct answer 1s

QOQDN 22N

Options :

Both statements [ and I1 are correct

1 % 55— 1 DO 7§ — I BOLAr QBRI

Both statements I and 11 are incorrect
5 % o°$DS =1 DOAW 3§ — I DO ORI 5%

Statement [ 18 correct but statement I 1s incorrect

3 % DS — 1 SOTDRA 5 5§ — I SO 570

Statement I 1s incorrect but statement Il i1s correct

4 v DS — 1 SBOPIA 590 5°Q 5§ — 11 DOBDSE

Question Number : 154 Question Id : 3838233514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The effects that aspirin can produce in the body are
@88 36508 §OR0T (araren

Anti-inflammatory | Antidepressant |  Antipyretic Anticoagulant | Hypnotic
oro adaded | ool | 2500 SMoFd | %o %o | e &8
AR08 | (ofroSnoes) | TR (oo

§oiriBos)
A B C D E
Options:
1. ® A., B., C
2 v ACD
3 2 A,B,E
4 % C,D,E

Question Number : 155 Question Id : 3838233515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The reagent ‘X’ used in the following reaction to obtain good yield of the product is
808 W8S’ &SI Q) 2803 ©DS' (vield) FOSERE GHTBPAOIIONS
S350 ‘X’ A?

Yor X, Y
Options :

.« KL, H,S0,

, » K1,95% H,PO,



5« Nal, ZnCl,

4 « HI

Question Number : 156 Question Id : 3838233516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
g g v O s
The C*ONH bond angle in AisX and €~ C bond angle inBis Y . What are
XandY?

AS C?ONH 206580 X 000 B S €70 C 208800 Y. X 00 Y
AN,

HC7ONH | Hier ONe;
A B

Options :

. » X>109°28',Y >109°28'

, % X<109°28',Y <109°28'

3 v X<109°28',Y >109°28'

4 x X>109°28',Y <109°28'

Question Number : 157 Question Id : 3838233517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
TUPAC name of the following compound is

808 J30¥S0 TABEY TUPAC 0

: O /\/’\r
Options :

2-Methyl pentoxybenzene
| x 2-0BS 00er8 YB0oES

4-Methylpentoxybenzene
, v 4-DBSD0ErEHBOES

Phenoxy-4-methylpentane
3 % D8I 4-DBS VOIS

Phenoxy-2-methylpentane
4 % DTEI2-DFSDOBS

Question Number : 158 Question Id : 3838233518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The bromides formed by the cleavage of ethers A and B with HBr respectively are

&35 A 805 B &0 HBr & 289 20 DDIBS 88 (S B

O™ o~

A B

Options :

1. %



Question Number : 159 Question Id : 3838233519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
[dentify the set, in which X and Y are correctly matched
X BN Y e OB 23¢h TAHDAS a3 H80I08%
CHO X
— Y

Options :

NH,OH, Hydrazone
| % SES

NH,NH,, Semicarbazone
5 % DSENES



C,H;NH, , Schiff base
3 O S0

RNH,,  Oxime
4. % SERSY

Question Number : 160 Question Id : 3838233520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What are X and Y respectively in the following reactions?

1BOB 585365 X sDOTN Y €0 SEQM D?

NH: Y CONH: X NH:
LYt g

Options :

1. ® [1) LIAJH4 ("]Hgo' 2 NHOH'FB!':
5 NaOH+Br, : (1) LiAlH, (1)H,O
.« NaOH+Br, . (i)NaBH, (i))H,0

4, » () NaBH, (i)H,0 ; NaOH+Br,



